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1- Some of the lectures ........... at the conference were about human rights in Africa. wyi w9e;l)
(WA - (adye yll gaio)
1) delivering 2) delivered 3) were delivered 4) which they were delivered

Y aiy3S asse olpl ol gl &
2-] think that you should ............ a specialist if the disease gets worse. (\WA$ - 9,2 9 Uisjgel vgo;l)
1) represent 2) grasp 3) encounter 4) consult

€ a4iy;35 1as,e ol Culw gl M
3-If the population of the world continues to ............ some people will die of hunger in the near future. (,g0;1)
(\WAS - Glig s 9 Litygel
1) increase 2) interest 3) decrease 4) interfere
Read The Following Passage And Answer The Questions.
If you wish to train yourself to be a good observer, you must do more than just see things. You must learn
to look for interesting details that make one plant, object, or building different from others. You must see
deeply, that is, you must see with your mind as well as with your eyes.
Most things when observed carefully, are either interesting or beautiful, or both. All you need to become a

good observer is to remind yourself, day after day, to see in this way.

4- Good observers often ........... (WAS - Uiygs2 9 Uhigel Kgejl)
1) see things as they are 2) look for details of things
3) | earn from the way things look 4) separate interesting things from others
5- Most things that are considered uninteresting ............. (\WAS - Ginyg,2 9 UBigel ve;)
1) are not important 2) cannot be recommended by people
3) are not beautiful 4) have not been observed well

¢
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6- Scientists have set up so many experiments to ...... how earthquakes happen. - (g, 9 Lisigel ©9e;l)

(1WAQ

1) tend 2) solve 3) find out 4) keep

7- Moslems ............ their shoes whenever they want to enter a mosque. (1WAQ - (k9,1 9 Uisjgel Kg0;l)
1) keep on 2) take off 3) put on 4) turn off

8- This is a very light chair. Itis ......... of a series of aluminum tubes. (\WAQ - isg,1 9 Uijgel Vo)

1) composed 2) consist 3) aware 4) afraid

9- This must be kept as a ........... between us. Nobody should know it. (\WAQ - (9,1 9 Uisigel ge;l)
1) covered 2) secret 3) known 4) puzzle

10- If | had treated her well, she ............ < (VWAQ - Gy 5 o Uisjgel ©gajl)

1) won't leave 2) does not leave 3) had left 4) would not have left

11- A contract of sale goods is a contract .......ccceeee. the seller transfers or agrees totransfer the property in

good to the buyer for a price. (1AW - cloizl ;10 ()9051)

1) that 2) by that 3) that with 4) by which

12- Accounting is facilitated by accounting organizations such as standard- setters, accounting firms and
................ (AW - elainl (10l yo;l)

1) Are professional bodies 2) professional bodies

3) there are professional bodies 4) professional bodies are also

13- Computers have reduced the cost of accumulating, storing, and reporting managerial accounting
information and have made .................. To produce a more detailed account of all data that is entered in to
any given system. (\WaV - _claiz| (10l (yg0;1)

1) it possible 2) possible 3) possibility 4) possible it

) I S As a "co-op", a cooperative is a limited liability business that can organize for- profit or not-for-

profit. (\WaV - Leloizl (10l ()9051)

1) Referring to it often 2) it is often referred to
3) Often to be referred to 4) Often referred to
0
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15-Many businesses are operated through a separate ............... such as a corporation or a partnership (either
formed with or without limited liability). (\WaV - _claizl (120U g0;1)

1) Function 2) entity 3) pioneer 4) union

16- Various regulatory schemes control how commerce is ......... , particularly vis-a-vis employees and
customers. (\WaV - _claizl (20l g0;l)

1) Conducted 2) purchased 3) transmitted 4) resulted

17- By about 1900 one finds managers trying to place their theories on what they ............ as a thoroughly
scientific basis. (1WaW - _claizl (10U (y9051)

1) Involved 2) issued 3) regarded 4) reasoned

18- What is the best way to get customer ................ ?the first answer must be to give good overall service.
(1P - elaizl 50l G03T)

1) Supervision 2) loyalty 3) profit 4) discount

19-Tracking the progress of what is done by each worker in a typical day is becoming increasingly .................
As organizations grow, both internally (growing employee numbers, responsibilities) and externally (multiple

locations, remote employees). (1AW - claizl 5106 (y9051)

1) Repetitive 2) official 3) interchangeable ~ 4) complex

20-All manufacturers are ... to obey rules relating to the design of their product. claizl (10U ()90;1)
(\waw -

1) protected 2) succeeded 3) obliged 4) affected

PART B: Reading Comprehension

Directions: for question 55 to 60, read the following passage and select the number of the answer choice
(1), (2),(3) or (4) that best answers each question. Then mark your answer an your answer sheet.

Indeed, when asked what they liked best about their workplace, employees at top-rated companies were
about twice as likely to say they felt "genuinely appreciated" at their job and confident in the direction of the
company as they were to talk about pay and benefits they earn for working there.

That's no surprise, said PeteFoley, head of the Employee research Group at human resources consulting
firm mercer. It s not that pay cheeks don’t matter. Obviously they do. But when it comes to creating

enthusiastic, engaged employees, money alone cant buy you love.
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"Pay and benefits have got to be at a minimum level, and then you're on to other things", Foley said. "You
want to know you can develop, have a sense of accomplishment, feel like you're making a difference".
Many of the companies that took part in post-dispatch survey are relativelycollar. But the same concerns
about development and dignity are seen across the ruum of business. When local fast-food workers
launched a one-day strike last day, their complaints were as much about working condition and treatment
by visors as they were about higher wages.

That is not surprising. Foley said. Surveys have long shown that the way people are treatedat work means
at least as much as their compensation. Often more (1AW - _claizl (10U (y9051)

21- The passage suggests that people who work for a company .......... WAV - Lelaizl (ol (gosl)

1) begin to care about working conditions when they have no financial concerns

2) are more likely to go on strike when they do not have the right to behave at their workplace the way they want
to

3) sometimes get more satisfaction from the feeling that they are valued than from the money they receive as
their salary.

4) expect their supervisors to conduct surveys from time to time to find out much the employees like their

responsibilities.

22-The word " do" in paragraph 2 refers to ............c... WPV - Lelaizl aol (go)l)
1) pay 2) consult 3) work 4) matter
23- According to the passage, PeteFoley................... (\WaV - Lelaizl ol (go)l)

1)directs a group of researchers

2) criticizes employees who do not consult whit others at their workplace

3) believes employees will never complain if their pay and benefits are below a minimum level

4) was once a sad employee who became happy after the result of a survey were implemented at his workplace.
24-The author mentions fast-food workers in paragraph 4 primarily in order to ................ . elaizl (ol (yg05l)
(\wav -

T)demonstrate their concern about their living conditions.

2) generalize the main point of the passage to workers other white-collar employees.

3)emphasize the adoption of strategies intended to prevent any unrest in business companies.
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4) illustrate a case in which the finidins of the post- dispatch survey cannot be used to analyze the employer-
employee relationship.
25- Which of the following is most related to the word " compensation” in the last line of the passage? (;g0;1)

(AP - Lelaiol ol

1) proper treatment  2) sympathy 3) development 4) tangible reward

26- 1 wish you ...........] here. (\WAF - _claizl (510U (y9051)

1) Are 2) will be 3) To be 4) Were

27-You can't make a SNOW Man ......cceereennee there’'s some snow. (\WAF - _claizl (a0l (yg0;1)

1) So that 2) Unless 3) Because 4) If

28- Why did you lend ? (\WAF - Leloizsl (ol Hgo)l)

1) My jacket to Angela 2) Angela my jacket

3) Angela to my jacket 4) My jacket Angela

29-Do you really think those high —heeled shoes are ........................ In the jungle? (\WAF - cloizl (a0l (yg0;l)
1) Loose 2) Clear 3) Suitable 4) Ancient

304 heard a that you are getting married .Is it true ? (\WAF - _claizl (510U (y9051)
1) Doubt 2) Rumor 3) Promise 4) Suggestion

Part C. Reading Comprehension

Directions: Read the following passage and choose the number of the answer choice (1), (2), (3), or (4) that
best answer each question. Then mark it on your answer sheet.

We all know that strong emotions have a powerful physical effect. Feeling nervous before an important
interview can send you rushing to the bathroom, while a sudden attack of anxiety can send your heart racing
and leave you feeling faint and dizzy. But new research has revealed the incredible healing power of the
brain and how learning to relax and think positively can have dramatic health benefits. And there is now
overwhelming evidence that your mental and emotional state can also have a direct impact on your body's
ability to fight disease and cope with pain.

Bob Lewin. Professor of Rehabilitation at York University, took a group of heart patients through an eight -
week angina management program which included stress management, relaxation techniques, goal -

stetting, yoga and exercise. The results were staggering. Fifty per cent of the patients who had been on
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waiting lists for bypass surgery were make it work for you? Well , it's far more complex than just learning to
look on the bright side, The key variable in patients getting well is the extent to which they feel in control of
their own emotions. Reorganizing your life and learning self — help techniques can help put you back in
control of these.

31- What does the passage mainly discuss? (\WaF - s15,5 ,.31,8 ()9051)

1) New research findings about human health

2) An innovative way to combat heart disease

3) Being in control of one's emotions pays off

4) Ways through which feelings can put us at a disadvantage

32- Which of the following best represents the rhetorical purpose of the passage? (\WAF - 51,5 ;51,8 ()9051)
1) Definition 2) Process description

3) Classification 4) Function description

33- Which of the following is NOT true about the study conducted by Bob Lewin? (\Wa¥ - 15,5 ;51,9 59051)
1) It took a period of two weeks to complete.

2) The participants in the study had a heart condition.

3) It was performed on participants who used to be managers.

4) At the end of the study some of the participants were told that they no longer needed a heart surgery.
34-The word "it" in paragraph 2 refers to .......... (\WaF -515,5 18158 ()9051)

1) Surgery 2) cardiologist 3) list 4) result

35- Which of the following vest describes the author's attitude towards stress managements? .51, (90;1)

(VWAaF -5l

1) Critical 2) Unbelieving 3) Confused 4) Favorable

36-I'll be there at SiX .......ccceuueeeeee. | get delayed. (\WAF — sisuwl ;51,9 (y9051)

1) provided 2) in case of 3) as soon as 4) unless

37-Tim asked me ......... ccceuueeee get him an ice cream. (\WaF — siduwl ;51,9 )9051)

1) that | could 2) if I could 3) whether could | 4) could |

38-There was ........ccceuueeeee. money that the robber couldn't carry it all. (\WA¥F — sisuwl ;51,9 (y901)
1) so much 2) too much 3) only a little 4) enough
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39- shall we meet at seven oclock? No, I .....cc.eeet then. (\WAF - siduwl ,.S1,6 ¢y9051)

1) have worked 2) will have worked  3) will be working 4) am working

40- Laura is about .............. lam. (\WA¥ = xiduwl ;51,9 ()9051)

1) Younger than two years 2) two years younger than

3) younger two years than 4) two years than younger

41-When you .............. the interview, remember to bring some samples of yourwork. — siswl ;51,9 (y9051)
(\waF

1) apply 2) achieve 3) switch 4) attend

42-Terry is really ................. and is always looking for fights with other people. (1WaF = siauwl ;51,8 ()9051)
1) ordinary 2) obedient 3) argumentative 4) indifferent

43-The .......... of the wheelchanged the world enormously. (1Wa¥ - il ;51,9 ()9051)

1) invention 2) attempt 3) investment 4) discussion

44-They are trying to ................ people of the need for higher taxes. (1WA¥ - iauwl ;51,9 ()9051)

1) convince 2) employ 3) qualify 4) allow

45- The man was arrested when his .............. passport was spotted at the airport. — il ;51,9 ()9051)
(\waF

1) intense 2) evident 3) anuncien 4) fake

In addition to risk-taking and meticulous attention to detail and planning, stunt workrequires being in top

.................... only an overview of the profession. Normally, the people (48) ....................these programs
already have experience in dangerous sports, rescue work, or the military. So the best way (49) ..................
for a career in stunt work is to train in an area that (50) .................... strong physical conditioning and has
an element of physical danger. Martial arts, scuba diving, and wrestling are just a few examples. (;g0;1)
(\WAF - diauwl 81,9

46- (\WAF — xidunl 5i51,8 ()9057)

1) For example 2) Although 3) In spite of 4) If

47- (\WAF — didul ;81,8 ()9057)

1) follow 2) realize 3) offer 4) engage
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48- (\WAF — siduwl 51,8 (y9051)

1) who attend 2) to be attending

3) that they attend 4) attend

49- (\WAE — Ml ,S1,8 (y9051)

1) preparing 2) to prepare 3) prepares 4) that prepares

50- (\WAF — siduwl ,u51,8 9051

1) applies 2) performs 3) regards 4) involves

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3),
or (4) that .Then mark the answer on your answer sheet.

Good relationships between teachers and students are important for student motivation, their academic
achievement and also for teachers' well-being. Poor teacher- student relationships are related to classroom
management issues and are an important reason for leaving the profession. Teacher-student relationships
develop from daily classroom interactions between teacher and students. Positive teacher-student relation
ships enable students to feel safe and secure in their learning environments and provide scaffolding for
important social and academic skills. Many studies have been carried out all over the world to study teacher-
student relationships in various countries and various educational contexts. All of these studies reported the
significant and crucial role of teacher- student relationships in education.

A recent study conducted by Jefferson (2011) revealed that teachers who showed an interest in their
students by indicating they were listening to them and understood students needs completely and accurately
, had students who obtained higher scores on a standardized test of learning. By welcoming and
encouraging students to raise their own questions about the content or claims being discussed . the
teachers could guide students to develop habits of mind for framing and answering questions. Therefore,
when a teacher creates a climate of respect in the classroom and encourages students to generate their
own ideas involving scientific ways of thinking , students are more likely to think deeply and persist in the
face of challenges.

51-what does the passage manly discuss? (1798 - Gisg 9 Uisjgel ©9esl)

1) The results of a study investigating the effects of teacher’s behavior on Students academic ancient.
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2) Reasons why some students get high scores on a standardized test of learning

3) Teacher- student relationships and their effect on students learning.

4) Ways to develop positive relationships in classroom environment.

52-what does the word (them) inparagraph2refer to? (1WA - (9,2 9 Uisigel wgo;l)
1) Teachers 2) Needs 3) students 4) scores

53- All of the following are mentioned in the passage as results of a good teacher. - %,9,) 9 Uj90l U90;T)

(1raa
1) teachers developing habits of mind 2) students performing better
3) students feeling safe and secure 4) teachers feeling healthy and happy

54- why does the author refer to the study conducted by Jefferson? (\Waa - (i9,2 9 Ubigel go;l)
1) To present an example of appositive classroom atmosphere

2) To give support to the claims made in the first paragraph

3) To describe how a teacher can create a friendly classroom atmosphere

4) To inform teachers of the new classroom management theories

55-innndd the problem, he would not have committed those silly mistakes. (1Wa¢ - 1,91 9 Uisigol v9o;l)

1) had terry understood 2) whether terry understood

3) if terry has understood 4) should terry understood

56- while there are many hypotheses about atlantis, but the vast majority of scientists.......ccccceeesuees atlantis

never existed. (1Wa$ - 9,2 9 Uiiigel Kgo;l)

1) conclude that is 2) conclude that
3) that conclude 4) they conclude that
57- among charity organizations existing currently, takes its mission so seriously that it sees

itself as a military unit on duty. (1WA - L)1 9 Lisigel ©9esT)

1) that one there is 2) it is one that it
3) there is one that 4) that there is one it
58- positive thinking can be helpful, but when by a realistic assessment of a person’s

situation, it can also be harmful. (\Wa$ - (,i,9,s 9 Uhjgel We;)

1) it has not balanced 2) not balanced

\Y
0905 (w1 (U § (oluduiw! ¥ gw



Ao\l
3) it did not balanced 4) not balancing
59- jeremy put in extra hours this afternoon to ... .for his late arrival to work this morning. ¢)90;1)

(VA% - Liyg s 9 Lisigel

1) collaborate 2) alleviate 3) accelerate 4) compensate

60- i would not have been able to my academic goals without that support and guidance
of my professors. (1WA - Lh,9,2 9 Uhigel gejl)

1) attain 2) assist 3) assign 4) annex

part b: reading comprehension

directions: read the following passage and select the choice (1), (2), (3) or (4) that best answers each
question. then mark the correct choice on your answer sheet.

karl friedrich benz was a mechanical engineer who designed and built the world's first practical automobile
to be powered by an internal-combustion engine.in 1883 he founded benz & co. in mannheim to build
stationary internal-combustion engines, but he was completely dedicated to the proposition that the internal-
combustion engine would supersede the horse and revolutionize the world's transportation. he persisted in
his effort to build a gasoline fueled vehicle in the face of many obstacles, including lack of money to the
point of poverty and the bitter objections of his associates, who considered him in competent.

benz ran his first car, a three wheeler powered by a two-cycle, one-cylinder engine, on a happy and
triumphant day early in 1885. he circled a cinder track beside his small factory, his workmen running beside
the car, his wife running too, clapping her hands; the little machine made four circuits of the track, stalling
only twice before a broken chain stopped it. even max rose, benz’s skeptical partner, whose money had
made the car possible, conceded that he was mildly impressed; but he remained convinced to the end of
his association with benz that there was no future in the horseless carriage.the original benz three-wheeled
vehicle, the motor wagen, is now preserved in munich. although it first ran early in 1885, its design was not
patented until jan. 29, 1886.

61-what is the passage mainly about? (1Wa$ - 9,1 9 Uisigel vge;l)

1) karl benz's effort to make the first automobile.

2) karl benz's personal life

3) karl benz's talent in engineering
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4) karl benz's factory in mannheim.
62- what does the word “supersede” in paragraph 1 mean? (\Wa$ - 9,1 9 Uisigel go;l)
1) rival 2) improve 3) replace 4) defeat

63- which of the following statement about karl benz can be inferred from the passage? ¢ (jg0l ()g0;l)

(\wag - L):?‘JS).’,.
1) no one ever objected to him 2) he had no financial difficulty.
3) his partners believed in him. 4) he was approved by his wife.

64- which of the following is not true about benz’s motorwagen? (\Wa¢ - 9,2 9 Uisigel go;l)
1) it was patented about a year after it first ran.

2) it was bought by max rose.

3) it first ran near his factory

4) it had a one-cylinder engine.

part a’: grammar & vocabulary

directions: choose the word or phrase (1), (2), (3) or (4) that best completes each sentence.

then mark the correct choice on your answer sheet.

L S that only specialists can fathom its complexities. (\Wa¢ - (%,9,2 9 Uijgel (go;l)
1) very difficult science has become 2) too difficult science has become
3) so difficult has science become 4) such a difficult has science become

66- geothermal energy—and in particular, the price of it— does not depend on the world’s economic and
political situation as ........coueeecee fossil fuels do. (\Wa$ - iy, 9 Lisjgel ©9esT)
1) strongly as 2) stronger than 3) strong as 4) strongly than

67- one of the features of the zika virus posing difficulties for its diagnostics is that only one out of

{111 SO by an infection-transmitting mosquito develops any symptoms. - i1 9 Uisigel (go;l)
(\was

1) people who bitten 2) people bitten

3) people are bitten 4) whose people bitten

68- the most common data .......ccccecceceunnuneee official statistics, which are collected as part of the operation of

criminal justice agencies. (\W9¢ - (k9,2 9 Ubjgel Vgo;l)
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1) to be used in criminological research that are

2) which are used in criminological research that

3) used in criminological research ar

4) are used in criminological research that

69- the ending of the movie was totally ........cceecereerueenee . i guess we have to decide for ourselves what really
happened. (1799 - k)92 9 Uijgel wge)l)

1) miraculous 2) prosperous 3) hazardous 4) ambiguous

70- emma endured a great deal of ...........ceuue.... when her peers made fun of her in the office. (j901 (yg9051)
(9% - G99

1) contamination 2) humiliation 3) acquisition 4) stimulation

part b: reading comprehension

directions: read the following passage and select the choice (1), (2), (3) or (4) that best answers each
question. then mark the correct choice on your answer sheet.

regular exercise may offer some protection against alzheimer's disease, even for people who are genetically
at risk, according to recent research, in the study published in the journal of alzheimer's disease, people
who did more moderate-intensity physical activity were more likely to have healthy patterns of glucose
metabolism in their brains — a sign of healthy brain activity — than those who did less. light —intensity
physical activity. on the other hand, was not associated with similar benefits.

the study involved 93 adults with an average age of 64, all of whom had at least one parent with alzheimer's
disease, at least one gene variation linked to alzheimer's disease, or both. this put them at high risk for
developing the disease themselves, although none showed any cognitive important at the time of the study.
to illuminate the relationship between brain activity and exercise levels, everyone wore an accelerometer
for a week to measure their daily physical activity and received pet scans to measure glucose metabolism,
which reveals neuron health and activity, in several regions of the brain. for people with alzheimer's disease,
these regions tend to have depressed glucose metabolism.

researchers found that people who spent at least 68 minutes a day engaged in physical activity at a

moderate level - the equivalent of a brisk walk — had better glucose metabolism in all of those regions than
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those who spent less time doing so. the amount of time spent being sedentary or doing less-intense
physical activity (like slow walking) were not associated with changes in any of the brain regions studied.
71-what is the passage mainly about? (\Wa¢ - 9,2 9 Uisigel (go;l)

1) light-intensity versus moderate-intensity physical activity.

2) relationship between regular exercise and alzheimer's disease.

3) glucose metabolism in human brain.

4) people vulnerable to alzheimer's disease.

72- all of the following are true about the people who participate in this study except they.................. . veol)
(W% - Ghyen o Uhjgel

1) all showed symptoms of cognitive impairment.

2) had at least one gene variation associated with alzheimer's disease.

3) all had an at least one parent with alzheimer's disease.

4) had an average age of 64.

73- which of the following statements is true? (\Was - g, 9 Ubigel W9e;T)

1) people who walk briskly are more likely to suffer alzheimer's disease than those who do not.

2) people who are genetically at risk of alzheimer's disease should spend 68 minutes a day doing physical activity.
3) people suffering from alzheimer's disease have diminished glucose metabolis.

4) people suffering from alzheimer's disease should always wear an accelerometer.

74- which of the following is closest in meaning to the word “sedentary” in paragraph 4? ¢ (bje0l ()90;1)
(A% - Ging

1) exhausted 2) depressed 3) sick 4) inactive

part b: reading comprehension

directions: read the following passage and select the choice (1), (2), (3) or (4) that best answers each
question. then mark the correct choice on your answer sheet.

mechanical engineer gottlieb wilhelm daimler became a major figure in the early history of the automotive
industry. making guns was his first vocation, and he showed marked talent, but he abandoned the trade to
go to engineering school, studying in germany, england, and france. in germany he worked for various

engineering and machining concerns, including the firm that much earlier had employed karl benz. in 1872
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daimler became technical director in the firm of nikolaus a. otto, the man who stationary gasoline engines.
during the next decade, important work was done on the four-stroke engine.

daimler brought in several brilliant researchers, among them wilhelm maybach, but in 1882 both daimler
and maybach resigned because of daimler’s conviction that otto did not understand the potential of the
internal-combustion engine. they set up a shop and built an air-cooled, one-cylinder engine in 1885. the first
high-speed internal-combustion engine, it was designed to run at 900 revolutions per minute (rpm). for
comparison, benz’s first tricycle engine had operated at only 250 rpm. daimler and maybach used one of
their early gasoline engine on a wooden bicycle fitted with an outrigger, which first ran on nov. 10, 1885.
this may have been the first motorcycle in the world. the next year the first daimler four-wheeled road vehicle
was made a horse drawn carriage modified to be driven by a one-cylinder engine.

75- what is the passage mainly about? (1Wa¢ - k0,1 9 Lisigel (yg0jl)

1) gottlieb daimler's competition with karl benz.

2) gottlieb daimler’s effort in the automotive industry.

3) history of the automotive industry.

4) the automotive industry in the 19th century.

76- according to the passage, daimler studied in all of the following countries except......ccccceeerceucuees CTYS1))
(VA% - g,y 9 Uhjgel

1) France 2) germany 3) England 4) italy

77- what was invented on nov. 10, 1885? (1Va¢ - ,i1g,1 9 Lisjeel vWee;!) (dre Yyl Culw WYlgw i)

1) the first tricycle engine 2) the first motorcycle

3) a four-wheeled road vehicle 4) a wooden bicycle

78- who does the word "they” in paragraph 2 refer to? (1Wa$ - 39,2 9 Ulsjeel wgojl)

1) brilliant researchers 2) daimler and otto

3) maybach and otto 4) daimler and maybach

Part A. Grammar and vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet.
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79- Input devices are the pieces of hardware ............... us to enter information into the computer. <,l;9 ¢)9051)
(\Vag -,

1) they allow 2) to allow 3) allowing 4) allows

80- So widespread has television become ................ many children now combine it with other activities,

including social networking online, flicking their eyes from laptop to TV screen and back again. <,l;9 )90;1)

(1Vas 5,0

1) that 2) for 3)to 4) as

81- 1 prefer to arrange my holidays myself ............... use a travel agent. (1A% 9,5 <)lj9 y9051)

1) although 2) rather than 3) hardly ever 4) and not yet

82- They wanted to build a factory there, but the local people said that it ............... the country side; hence

they discarded their plan. (\Wa$ -5, &,)l59 ¢g0;1)

1) destroys 2) destroyed
3) would have destroyed 4) would destroy
83- The workshop is intended to ............... the trainee Engineers skill to operate the new machinery. ¢)90;1)

(1798 9,0 ©)lig

1) pursue 2) enhance 3) praise 4) expose

84- Electrical engineers typically ............... a degree in electrical engineering or electronic engineering. ¢;90;1)
(1738 9,0 ©)li

1) hold 2) plan 3) require 4) maintain

85- They have decided to return the merchandise and get a refund because they state that it does not

actually ................ . their practical needs. (\Wa$ 9,5 <)lj9 y90;1)

1) involve 2) resolve 3) provide 4) fulfill

86- It would be a .............. for them, not to be able to sell their newly produced goods. 9,15 <)l59 (y9051)
(1was

1) purpose 2) matter 3) disaster 4) prediction

Part B: Reading Comprehension
Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers each

question. Then mark your answer on your answer sheet.
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Tony Tan Keng Yam is the seventh president of Singapore. He was a bright student and attended the
University of Singapore, Massachusetts Institute of Technology and the University of Adelaide, ultimately
earning his doctorate in applied mathematics. While he is best known for his political career, he started off
teaching physics and mathematics at the University of Singapore and a few years later took a position as a
banking manager at Oversea-Chinese Banking Corporation. Ten years later, he was elected to serve in
Singapore's Parliament. He also joined the Singapore Cabinet and served in several different roles during his
tenure including Minister for Finance, Minister for Education, among others. Outside of his Cabinet posts, he
continued his work with the University of Singapore as Vice Chancellor. His emphasis on education and
reform is a common theme throughout his career with many achievements in standardizing Singapore's
educational system as the country reached greater economic heights. In 2010, he decided to run for the
presidency and won in 2011. He has championed investments in society and encouraged fundraising and
volunteerism among his many occasions by several institutions.

87- According to the passage, Tan studied at all of the following universities EXCEPT .......c.ccoecouuce. RrY51))
(WY - Ging s 9 Ubjgel

1) The University of Singapore 2) Massachusetts Institute of Technology

3) The University of Sydney 4) The University of Adelaide

88- Which of the following sentences is correct? (\WaV - 9,1 9 Ulsjgel (go;l)

1) Tan obtained his Ph.D. degree in applied mathematics.

2) Tan taught his political doctrine at university.

3) Tan is the only person who helped Singapore reach great economic heights.

4) The theme of political and economic reforms are widespread in his books.

89- Which of the following questions does the passage provide sufficient information for the readers to
answer? (\VaV - (9,1 9 Gijgel wgasl)

1) How long was Tan Singapore’s president?

2) At what age did Tan become the manager of Oversea-Chinese Banking Corporation?

3) Which awards did Tan win?

4) Which cabinet posts did Tan hold?

90- The word “championed” in line 13 means .....c....cceeeseeee (WaV - iyes 9 Uisigel wge;l)
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1) anticipated 2) advocated 3) assembled 4) allocated
91-The news about the effects of air pollution on the development of children’ s lungs ......cccccceeeuuee. disturbing.
(WA - Ghyesn 9 Uijgel Lgesl)
1) are 2)is 3)itis 4) they are
1 V20 \T7: | [ to get a promotion to manager, but the management chose someone from outside

the company. (\WaA - g 9 Ulijgel 1ee;l)

1) had supposed 2) is supposing 3) was supposed 4) has supposed

93- Please be qyiet when you go into the baby’s room. She ..................... and we don't want her to wake up

and begin to cry. (\WAA - (isg,s 9 Uligel We;l)

1) may have slept 2) must have slept
3) might be sleeping 4) she will be sleeping
94- Most of the chocolate ....................... . today is not drunk, but eaten, thanks to a chocolatier in England,

who produced the first solid chocolate in the 19th century. (\WaA - (9,2 9 Uijeel Vgo;l)

1) consumed 2) consuming 3) is consumed 4) that is consuming

95- The students would certainly have solved the problem more easily if they .............. Their calculators.
(WA - Giyg s 9 Ubjgel Leeil)

1) have used 2) would use 3) used 4) had used

96- In order to provide a complete report, George and his staff ........ccceceeennnee the graphs and charts into the
written text. (\WaA - (g, 9 Ulijgel 19e;T)

1) incorporate 2) demonstrate 3) investigate 4) manipulate

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2) , (3), or (4) that best answerseach

question. Then mark your answer on your answer sheet.

The Taj mahal is a famous mausoleum next to the river Yamuna in the Indian city of Agra. A mausoleum is
a building where people bury the dead. The name Taj Mahal means ‘the crown of palaces’. The most famous

part of the Taj Mahal is the large white dome in the center. It is 35 meters high and is surrounded by four
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smaller domes. The rooms inside the building are decorated with beautiful archways and precious stones
in the walls. The buildings are surrounded by gardens with pathways, pools, fountains and green gardens.
The construction of the Taj Mahal began in 1632 and finished in 1653. It was built with materials from all
over India and Asia, but the main material is white marble. Historians believe that the materials were
transported by over 1,000 elephants for the construction. The emperor Shah Jahan built the Taj Mahal as a
burial place for his wife, Mumtaz Mahal. According to legend, he wanted to build another Taj Mahal in black
on the other side of the river, but this never happened. During the Indian Rebellion of 1857, many parts of
the Taj Mahal were damaged by British soldiers, who took some of the precious stones from its walls. Over
the years, the Taj Mahal has suffered from environmental damage, and there have been many government
attempts to conserve its beauty.

97- How long did the construction of the Taj Mahal last? (\WAA - (952 9 Ubs90l go;l)

1) 53 years 2) 35 years 3) 33 years 4) 21 years

98- Which of the following statements is true? (\WaA - (5,93 9 Uijeel Yeo;l)

1) Mumtaz mahal. The emperor Shah Jahan’s wife, was buried in the Taj Mahal.

2) The emperor Shah Jahan build the Taj Mahal during the Indian Rebellion.

3) The Taj Mahal was completely destroyed by British soldiers in 1857.

4) The Taj Mahal was built with materials from all over the world.

99- The word “this” in paragraph 2 refers t0 ...c...coueccuvseccune.. (WA - isg s 9 Uljgel v9e;l)

1) building another Taj Mahal in black 2) the other side

3) the river 4) legend

100- The word “conserve” in paragraph 2 means ... - (VWAA - Ginyg s 9 Uisieel mgesl)

1) support 2) transfer 3) protect 4) observe

101-Research has shown that children ............... violent video games tend to become more aggressive. (g0;1)

("WAA - Gy 9 Uisjgel

1) whom they watch 2) who watching
3) watch 4) watching
L — . that adults and children have different tolerance levels for chemicals. (9,2 9 U390 W90;)
(\WaA -
Y)
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1) that is has believed 2) It is believed
3) It believed 4) Believing
103- If we increased the price, we ......... The risk of pricing ourselves out of the market. g bjg0l ()9051)

(IF9A - G

1) would have run 2) would run 3) have run 4) ran

104- you didn't tell me it was Harriet's birthday yesterday. Now she’s angry at me because | forgot. You
.................. me about it earlier. (\WAA - (g5 9 Uisigel ©9e;T)

1) should have told ~ 2) must have told 3) should tell 4) must tell

105- During the first ............... weeks of university days, | was confronted with unforeseen difficulties ()90;1)
(WA - Gygss 9 Ujgel

1) a few of the 2) few of 3) few 4) a few

106- will you ........ your interest in the event by returning the response card as soon as possible? (;g0;1)
(WA - Gygss 9 Ujgel

1) accommodate 2) acknowledge 3) contemplate 4) contradict

Cloze Test:

People in different countries may use different sign languages. An Englishman who could ... (107) ... little
Italian was once in Italy. One day he went into a restaurant to eat. When the waiter came, the Englishman
... (108) ... his mouth, put his fingers into it and took them out again and moved his lips. In this way, he ...
(109) ... to say. "Bring me something to eat". The waiter brought him a lot of things to drink, but no food!
The Englishman was ... (110) ... that he was not able to tell the waiter he was hungry. He was to leave the
restaurant when another man came in and put his hands in his stomach. And this sign was ... (111) ...
enough for the waiter and in a few minutes, the

waiter brought him food. At once, the Englishman could get his meal in the same way.

107- (1WAA 31350 ¢lyl 140 SGL)

1) speak 2) discuss 3) produce 4) say

108- (1WA 31350 ¢lyl sgo SGL)

1) reached for 2) touched 3) opened 4) pointed to

109- (1WA 31350 ¢lyl sgo SGL)
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1) meant 2) needed 3) decided 4) refused

110- (\WAA 31350 ol sg0 L)

1) strange 2) proud 3) sorry 4) needy

111- (1WA 31350 ¢lyl sgo SGL)

1) quick 2) modern 3) strong 4) clear

112- There are a number of reasons why computers won't ..... books entirely.(\WaA (y0gs olaiil (59 ,45)
1) use 2) Replace 3) destroy 4) try

113- Books don’t need a power source ..... (prepared by iranarze.ir)(\VaA (ags okl (59,1)
1) too 2) Also 3) either 4) neither

114- You can read a book for as long as you want and ...... you want.(\WaA ,ags elaiil (g9,.)
1) need 2) Where 3) read 4) wherever

115- Regarding books, you never have to ..... about losing power.(\WaA ¢yogs ol (59 ,45)

1) worry 2) Forget 3) remember 4) imagine

Part B: Reading Comprehension

Directions: Read the fo1lowing passage and select the choice (1), (2), (3), or (4) that best

answers each question. Then mark your answer on your answer sheet.

City life is cool; but is country life cooler? Apparently yes. After the terrible Covid-19 epidemic of 2020, lots
of people would like to leave their city and live in the country. More and more people in Britain want to live
in the country, and this is causing more problems in some rural areas.

The population or British cities has been falling for years. Cities like Liverpool and Glasgow have lost about
30% of their population in 30 years. But Britain's population is still growing. Where are the people going?
Answer: to the country.

The English country side has a classic image. People imagine that life in the country is slow and clam; that
there are no traffic jams, no pollution, and no crime. In some places, this is true; but in others it is not.
Small towns and villages are becoming more and more popular; people have more space and most houses
have gardens. But problems are growing. Lots of people want to live in the country and work in the city: so,

more and more people travel long distances each day, to go to work. of course, they don't use buses (they
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are too slow) or trains (they don't stop in the country): they use cars. And although they live in the country,
they use supermarkets and good fast roads, but they don’t want to see them or hear them. Besides, lots of
young people say that life in the country is boring: there is not enough to do, and there are not enough
activities and excitements.

116- What is the passage mainly about? (1799 - 9,1 9 Lisigel (y9051)

1) Problems of life in big cities

2) Problems caused by people's desire to live in the country in Britain

3) Population growth in Britain and other European countries

4) Problems caused by Coid-19 epidemic

117- Which of the following statements is correct? (1799 - isg,1 9 Uitjgel ©9e;l)

1) The population of British cities has been declining for years.

2) Cities like Liverpool and Glasgow will lose 30% of their population in 30 years.

3) People are experiencing the problem of air pollution in almost all rural areas.

4) Cities like Liverpool and Glasgow are gradually becoming overpopulated.

118- The main problem in that many people ..........ccc...c... (199 - iy 9 Uitjeel weesl)

1) want to leave the country and find a well-paid job in large cities.

2) want to live in the country-yet work in the city.

3) in large cities don't want to travel long distances.

4) in large cities want to have gradient in their houses.

119- The word "they" in paragraph 4 refers to .............. . (19 - 0,0 9 Ulijeel vgejl)
1) supermarkets 2) buses or trains
3) good fast rounds 4) lost of people

120- It can be concluded from the passage that apparently the majority of the British people ..................
(199 - Giyg s 9 Ubjsel wgejl)

1) still want to use trains for daily commute despite the fact that they don't stop in the country

2) still want to use buses for daily commute although they are rather slow.

3) want to benefit from the facilities offered by large cities, yet remain far from them.

4) are fed up with the facilities offered by large cities and don't want to use them any more.
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LIV E— intently to the music, the audience failed to notice the fire. (199 - i19,1 9 Uiijgol W9e;T)
1) As listening 2) To be listening 3) Being listenedto  4) Listening
122 esrcaenns The blueprint presents the details of the engineer’s plans, it must be interpreted accurately

by the contractor. (%99 - 9,1 9 Lisjgel (go;T)

1) Otherwise 2) Since 3) Unless 4) Although

Red the paragraph carefully and answer the questions.

Even professional writers do not write everything perfectly the first time. They have to revise their work.
When you revise your writing, you look for ways to change it in a way to make it better. You check your
spelling and you make sure that you have used perfect periods, and other punctuation marks in the best
way. You look for words that can be replaced or traded for different, more exciting words. You make sure
that your words help reader get a picture in his mind when he reads them. Revising your writing is important?

That you make can turn boring words into exciting words, and can make your ideas ?

123- The passage is mainly about how to ............... (Ulsiaw (520) (o 095 129 Jlw Suisyy psle)
1) be a professional writer 2) trade different things
3) revise your writing 4) get a written picture

124- Which statement is true. According to this paragraph? (isuw (5,20) (ue Cugi 1779 Jlw S pglc)
1) professional Writers write everything perfectly.

2) Revising is limiting your Writing to spell check.

3) your main concern is how to save the readers’ picture in mind

4) You revise your writing to make it clear and attractive

125- The underline word treated means ................ (Uhzxiaw (5)20) (o Cugs 1A Jlw S pglc)

1) exchanged 2) examined 3) cleaned up 4) looked after

126- The pronoun “them” refers to ................ (Uhiaw (5y20) (o s 179 Jlw (S pgle)

1) pictures 2) words 3) capitals 4) readers

127- Natasha is working on a research project studying the genes of DNA .................. ( rpo Cublag Wylie

Yoo (5w 1799D) (ixiuw (5x0)

1) Exhibited 2) Extracted 3) Established 4) enhanced

Part B: Reading comprehension
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Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers each

question. Then mark your answer on your answer sheet.

In Chandigarh, a city in northeast India, there is an amazing garden. There are tall rocks and small paths
between them. There are waterfalls, pools, and hundreds of sculptures. The sculptures are surprising
because they are all made from rubbish, like plastic jewelry, bottles, broken pots, sinks, and pieces of
electrical equipment.

The garden has a surprising history too because it was built in secret! A man called Nek Chand started
building the garden in 1957. He chose some land in a forest near the city, where there were rocks and a
river. Nobody was allowed to build here, so Nek knew that people wouldn't see him there. Then he started
to collect rubbish and make the sculptures.

Nek's project was illegal, but for 18 years, nobody knew it. However, in 1975, some government officials
discovered it. By that time, the garden was nearly 49,000 m2 in size. The government tried to destroy the
garden, but when the people in the city heard about it, they wanted to keep it.

In 1976 it became a public park. After that, Nek Chand received a salary so that he could work in the garden
fulltime, and fifty more people were employed to work there with him. People paid to visit the garden. Nek
put collection centers around the town so that he could make more recycled sculptures.

128- The word “illegal” in paragraph 3 is similar in meaning to ................. (prepared by iranarze.ir)

(Lisiaw (5520) (1199 LT Uing s 9 UBigel b Siidio ()2 (sl 6w 151)9 gosT paeiise)

1) unfaithful 2) unhelpful 3) unlawful 4) unthankful

129- The word “it” in paragraph 3 refers to ........cccceceuee. U590l b Sidine (a2l (sl 6iwd ;81,9 (9051 (paaiviad)
(Ui (5y20) (199 GUT ings 9

1) rubbish 2) the city 3) the government  4) the garden

130- The geography of northern Russia....greatly with that of the south. (\Fee Jlw )l SGU)

1) evolves 2) contrasts 3) rotates 4) orients

Part B: Reading Comprehension:

Directions: Read the following passage and select the choice (1),(2),)3). Or (4) that best answers each

question. Then mark your answer on your answer sheet.( iranarze.ir)
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London is a famous and historic city. It is the capital 0777f England in the United Kingdom The city is quite
popular for international tourism because London is home to one of the oldest standing monarchies in the
western hemisphere. Helen and Nancy recently traveled to London. They were very excited for their tripe
because this was their first journey overseas from Canada.

Among the popular sights that Helen and Nancy visited are Big Ben the London Eye and Buckingham
Palace. Big Ben is one of London’s most famous monuments It is a large cluck tower located at the northern
end of Westminster Palace. The clock tower is 96 meters tall Unfortunately, Helen and Nancy were only able
to view the tower from the outside. They learned that the towers interior is undergoing renovations until
2022.

Fortunately, The London Eye, the city’'s famous ferris wheel, was open to the public The London Eye is
situated along the southern shores of the Thames River. This attraction stands 135 meters high. It is One If
London’s most well-kknown spots for gaining aerial views of the city. Each capsule of the Ferris wheel can
hold up to 25 passengers. When their capsule stopped at the top of the ferris wheel the women took
spectacular panoramic photographs of the beautiful city scape below.

131- why were Helen and Nancy Very exited for their tripe? (1Feo Jlw <yl SGL)

1) It was their first journey overseas

2) London is very far from Canada

3) London is quite popular for its monarchy

4) They had never traveled to the western hemisphere

132-How tall is the clock tower? (prepared by iranarze.ir) (\Fee Jlw &)l SGL)

1) 202 meters 2) 135meters 3) 96 meters 4) 25 meters

133- The word They in paragraph 2 refers to..... (1Feeo Jlw <l SGL)

1) renovations 2) monuments 3) Helen and Nancy  4) sights

134- The words spots in paragraph 3 is similar in meaning to ...... (VFoo Jlw )l SGL)

1) views 2) locations 3) buildings 4) attractions

Cloze Test

The atmosphere keeps part of the sun’s light from reaching the earth. Plants and animals could not ... (135)

... on the earth without some light and ... (136) ... from the sun, but if all of the sun’s light ... (137) ... the earth,
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they would kill living things. ... (138) ..., the earth’s covering of air prevents sudden great changes in ... (139)
... such changes would be dangerous for living things.

135- (geil wll sr20) (1Fee Yl o SiL)

1) breathe 2) keep 3) live 4) work

136- (19031 Wl (sy20) (1Fee Jlw culo L) (prepared by iranarze.ir)

1) could 2) storm 3) rain 4) heat

137- (gesl ubnl sr20) (1Fee Jlw o SIL)

1) directed 2) reached 3) reflected 4) produced
138- (ugail vl ss20) (1Fee Jlw culo S5L)
1) Although 2) Whether 3) Until 4) Therefore

139- (usasl wbal r2e) (1Fee Jw ko i)

1) departure 2) mixture 3) temperature 4) structure

140- Despite these overwhelmingly difficult trading conditions, the company has .......... produced outstanding
results. (251> slg= (5,20) (1Foo Jiduwl anulasd ogd)

1) therefore 2) accordingly 3) nevertheless 4) consequently

141-I've listened to your argument. It's neither here nor there. In other words, it's quite ........... .

(@tsl> slgz 55m0) (1Fo0 Adusl apliad 695)

1) memorable 2) irrelevant 3) scornful 4) enormous

Part B: reading comprehension

Directions: read the following passage and select the choice (1), (2), (3), or (4) that best answers each
question. Then mark your answer on your answer sheet.

Attending a good pre-school and primary school has more impact on children's academic progress than
their gender or family background. The Institute of Education study found that the quality of teaching
children receive is more important than their gender or family income. A high quality pre-school followed by
an academically effective primary school gives children's development a significant boost. But children also
need a stimulating early years home- learning environment to build upon.

The effective Provision of Pre-School Education project tracked almost 3,000 childern from the time they

started pre-school until age 11. While all children benefit from a good pre-school, high quality is particularly
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important for children with special educational needs, those with mothers with low qualifications, or children
who come from unstimulating homes.

At primary school, the quality of teaching affects both children's social behavior and intellectual
development. The researcher found much variation in the quality of teaching at age 10 and said this had a
more powerful impact on children's academic progress than their gender or whether or not they receive free
school meals.

Children who attend a more academically effective primary school show better attainment and progress in
key stage 2 (ages 7 to 11) than children with similar characteristics who attend a less effective school. But
home matters too. A stimulating home learning environment at age 3 to 4 is linked to long-term gains in
children's development and has an equal impact to the mother's qualification level

142- Which of the following statements is true about pre-school and primary school education?

(Liiaw (55200) (1Fo) 15 inid 69,5 Uiy 9 Ubjeel b Syiino (bl (slo 6Biwd 4uSL8 09oiT (aagd)

1) A high-quality pre-school alone ensures children's academic progress

2) The quality of education plays a more important role than children's gender

3) Family background is more important than the quality of education children receive

4) An academically effective primary school alone ensures children's academic progress

143- According to the passage, a high-quality primary school education is particularly important for all of
the following children EXCEPT those ................ 9 Uigel b Syiie (uhzl (slo 6Biwd 1819 (9051 (yaegs)
(Ui (55200) (1Fo) i inid 69,5 Uiy

1) with special educational needs 2) with inappropriate social behavior

3) who come from unstimulating homes 4) whose mothers have low qualifications

144- The word "their" in paragraph 3 refers to...... . 9 Uigel L Syiduo (2l (sl sKiwd ;81,8 (59051 (ja0gs)
(Uiiaw (5320) (1Fo) 15 Gl 09,5 g2

1) researchers 2) homes 3) mothers 4) children

145- The word "attainment" in paragraph 4 is closest in meaning to ........c.c........

(Ui (5)2x0) (1Fo) 5 i 69,5 Lings 9 Uijgel b Syide zh=l (sld 6w 1518 (geil (yaags)

1) achievement 2) amazement 3) amusement 4) adjustment
146- I've been calling Mary ........ccevuueeee. all morning, but she doesn't answer. | guess she’s at a meeting.
Y4
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(Uixian (5)220) (1Fo) sg0 (2ol 9 )15 &5,4d)
1) repeatedly 2) suddenly 3) finally 4) totally

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers each
question. Then mark your answer on your answer sheet.

Are you healthy? Before answering, think about what you understand by “health”. It doesn’t just mean
freedom from disease. Health is a measure of how sound and vigorous both your body and mind are. A truly
healthy person has a sense of physical and mental well-being. Our health is precious and easily damaged.
But there is much we can do to maintain it. Eating well, exercising, and getting enough sleep all help keep
us healthy. Standards of health and health hazards are different from place. In some parts of the world,
many people have many health problems because they are poor, hungry, and without clean drinking water.
In other places, stress at work, lack of exercise, and too much food bring their own health problems, such
as heart disease.

Food plays a large part in our health. A healthy diet includes fresh fruit and vegetables, meat, fish, bread,
eggs, and milk, but not too many fatty, salty, or sugary. Good health also depends on regular exercise
because it keeps as fit. Regular exercise improves blood circulation. Makes the heart and lungs work well,
and keeps the strong and toned. It is good for the brain as well as the body. And makes on feet in start and
a cool-down sequence at the end to prevent strain on muscles.

147- Which of the following is the best title for the passage? (i (5,20) (1Fo) jg0 ()aoli g )15 S ,ub)

1) Healthy eating 2) physical Exercise

3) Standards of Heath 4) Health and fitne

148- The word “precious” in paragraph 1 means ................. . (Uiazuiaw (5)=x0) (1F0) ;g0 (510l g 15 &S ,ub)
1) serious 2) popular 3) valuable 4) important

149- The word “they” in paragraph 1 refers to .......ceccvecunece. (Uhzsaw (520) (VFol jg0 aoli g )15 wiS)udb)
1) people 2) health hazards 3) parts of the world  4) health proble

150- The passage mentions all of the following as sources of health problem ..........................

(Uhszian (5)20) (1Fo) 490 aoli 9,15 &S yub)

1) lack of clean drinking water 2) stress at work
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3) too much eating 4) smoking

151-Have you read that book ................ The life of Van Gogh? (9051 ¢l2l) (VFe) (g5 o SSL)

1) about 2) of 3) over 4)in

1524if the student would .......................... his folder by subject, he would be to find able to his homework

more quickly. (1€ oluw (y90;1)

1) regard 2) follow 3) collect 4) organize

153-The ...cccevveeecrnnnnnne of the universe will probably never he explained by the scientists. (1€21 sluw (;90;1)
1) identity 2) origin 3) role 4) effect

154- They won't be able to get there on time, ..........cc..cuueet ? (1€0) oluw ygojl)

1) will they 2) can't they 3) can they 4) won't they

155-She wasn't feeling fine. That's ........................ she didn't go out last night. (1€1 6luw (ygojl)

1) when 2) what 3) how 4) why

156- The desks and the chairs are in good order and the floor is so clean. The room ................. (prepared

by iranarze.ir)(Uixiw (5)2x0) (1Fo¥ Cudagud)l casi wyljg)

1) should have cleaned 2) should have been cleaned

3) must have been cleaned 4) must have cleaned

Direction: read the following passage carefully and answer the questions that follow:

PARASITIC AND VIRUTIC DISEASES

Man, like other animals, is ever a host to a great number of parasites: foreign organisms which cling to the
skin or live inside the body. Most of these parasites caused us little discomfort, but a few are responsible
for serious parasitic diseases, particularly in tropical countries. Malaria and sleeping sickness, for instance-
and these are caused by small protozoan parasites consisting of a single cell- are still major causes of death
in many parts of the world. Other parasitic disease like schistosomiasis, which are due to much larger worm-
like parasites, cause relatively few deaths, but they seriously affect the well- being of more than two hundred
million people.

In Western countries, the parasites of man are relatively unimportant, although livestock are seriously
affected. We are much more familiar with infectious diseases caused by very small organisms called

microbes: bacteria and viruses. To the biologist , these microbes are also parasites. But the diseases that

Y
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they cause are, for convenience, not referred to as parasitic. Not so many year ago, quite a number of
diseases caused by bacteria or viruses, like cholera, pneumonia, Smallpox, and poliomyelitis we among the
foremost causes of deaths in Western countries.

Nowadays causes of some of these diseases are so rare that medical students should feel fortunate ever
to see them.

157-Man —. (L2l slg= (5y0) (1Fe¥ ,g0 Cublags W)lje)

1) feeds, keeps, breeds and cars for his parasites.

2) is the carrier of many parasites.

3) behaves hospitably to his parasites.

4) allow foreign organisms to cling to his skin.

158- Which of the following is not a parasitic disease? (,a.&sl> slg= (5y20) (1Fo¥ 1g0 Cublags W)lj9)

1) Protozoa 2) Sleeping sickness

3) Malaria 4) Schistosomiasis

159- According to the passage Schistosomiasis, —. (9Kl slg= (5,20) (1Fo¥ g0 Cublags &)lj0)

1) has caused two hundred billion people to die.

2) is a parasitic disease.

3) is itself a large parasite.

4) is caused by a parasite consisting of a single cell.

160- Who or what is more likely to be affected by parasites in Western countries? (\FoVY g0 cublags w,)ljg)

(LoBuiils slg= (5,20)
1) Man 2) Smallpox 3) Livestock 4) All of the above
161- It is Vital .cccereecerrcernesssnens a health check before using the gym for the first time. (\Fo¥ ;3T (5,%%3,5 GU)

(Ol IS5 Gbjeel le uungo (5520)

1) having 2) to have 3) for having 4) to having

162-The Spanish teacher ............. is near mine helps me with my homework once a week 3T (5,5:53,5 GL)
(Ol GISSL Gjgol e aumgo (5y20) (1FoY

1)that his house 2) his house 3) whose house 4) who his house
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163-If you worked from home, you .......... . need to act formally by wearing a suit (1Fo¥ 3T (5,55,5 S5U)

(bl 615U Lijeel Jle duuwgo (5y2x0)

1) won't 2) wouldn't 3) didn't 4) don't

164- They won't be able to get there on time, ..................... ? (1€o¥ sluw (yg051)

1) will they 2) can't they 3) can they 4) won't they

165-She wasn't feeling fine. That's ........................ she didn’t go out last night. (1€o¥ olus (y9051)

1) when 2) what 3) how 4) why

166-if the student would .......................... his folder by subject, he would be to find able to his homework

more quickly. (1&o¥ oluw (90;1)

1) regard 2) follow 3) collect 4) organize
167-The ...cceuveerrrennnnnns of the universe will probably never he explained by the scientists. (1€o¥ sluw (;90;1)
1) identity 2) origin 3) role 4) effect

168-These discoveries were made at a...... early date. (1€o¥ oluv yg0;51)

1) surprisingly 2) morally 3) directly 4) immediately

169-TV commercials help to.... demand for new products by convincing watchers that they can't live without
them. (1€o¥ oluw (yg0;1)

1) conclude 2) generate 3) inform 4) recognize

1704 must....... For keeping you waiting, we have been so busy this morning. (1€o¥ olus (y9051)

1) convert 2) check 3) apologize 4) suggest

1714 didn’t say | couldn't.... the politics, just that | didn't like them, he answered. (1&o¥ olus (y9051)

1) revolve 2) apply 3) handle 4) carry

172-These discoveries were made at a...... early date. (1€o¥ oluw (y9051)

1) surprisingly 2) morally 3) directly 4) immediately

173-TV commercials help to.... demand for new products by convincing watchers that they can't live without
them. (1€o¥ oluw (y9051)

1) conclude 2) generate 3) inform 4) recognize

\RJ
0905 (w1 (U § (oluduiw! ¥ gw


https://iranarze.ir/es263



